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1. The function f is defined by

5X 5X
f(x) = + x>0
(x) X2 +7x+12 x+4 -

(a) Show that £(x) = —>—

X+3 (3)

(b) Find f*
(3)

(¢) (i) Find, in simplest form, f'(x).

(i1) Hence, state whether f is an increasing or a decreasing function, giving a reason
for your answer.
3)
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Question 1 continued
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Figure 1
Figure 1 shows a sketch of part of the graph with equation y = f(x), where
f(x)=|3x-13| +5 xeR
The vertex of the graph is at point P, as shown in Figure 1.
(a) State the coordinates of P.
)
(b) (i) State the range of f.
(if) Find the value of ff(4)
(@)
(c) Solve, using algebra and showing your working,
16 —2x > |3x-13| +5
(4)
The graph with equation y = f(x) is transformed onto the graph with equation y = af(x + b)
The vertex of the graph with equation y = af(x + b) is (4, 20)
Given that a and b are constants,
(d) find the value of a and the value of b.
)
J
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Question 2 continued
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3.
GA
o k %
Figure 2
The total mass of gold, G tonnes, extracted from a mine is modelled by the equation
G =40 - 30e*°™ t>k G=>0
where t is the number of years after 1st January 1800.
Figure 2 shows a sketch of G against t.
Use the equation of the model to answer parts (a), (b) and (c).
(@) (i) Find the value of k.
(it) Hence find the year and month in which gold started being extracted from
the mine.

®3)

(b) Find the total mass of gold extracted from the mine up to 1st January 1870.
)

There is a limit to the mass of gold that can be extracted from the mine.

(c) State the value of this limit.
(1)

y,

10
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In this question you should show detailed reasoning. L

Solutions relying entirely on calculator technology are not acceptable. K

(a) Show that the equation O
25in (6 - 30°) = 5c0s0

%
&

can be written in the form S

& K.
tand = 2+/3 S
@)
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(b) Hence, or otherwise, solve for 0 < x < 360°

2sin(x — 10°) = 5cos(x + 20°)
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Question 4 continued
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5. (i) Find, by algebraic integration, the exact value of
4
j 8 i
2 (2x = 3)°
4)
(if) Find, in simplest form,
x(x* + 3)7 dx
(2)
S
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6. (i) The curve C, has equation

y=3In(x*-5)-4x*+ 15 x > /5

Show that C, has a stationary point at x = Q where p is a constant to be found.
(4)

(ii) Adifferent curve C, has equation
y = 4x—12sin’ x
(@) Show that, for this curve,

dy .
— = A+ Bsin2x
dx

where A and B are constants to be found.

(b) Hence, state the maximum gradient of this curve.

(4)

Leave |
blank

18

P 6 9 2 0 4 A 0 1 8 3 2

a&gga
a&&%&
CRAEKK

%

0
SIS
LTINS
SIS ET

%

K

RIIEIEIIEIEIIEIEILEID

R RIS

0
5
K5

O

e

JEI
oo

3
<5

%
SRR
< 0:‘0

ORI
A A N
§

<5

ooy



6
2RSS
XK

00&%&%%\
SGEISEELS,

RO
SRR
KRS

S

KRKES
%

X
%%

o
2K
boes

RRLRLLRLRARLS

K OCKIAA
RIS
0%

¥\ O X
o it
KX

¢
%
>
Ky
KA
RRRLKRLRS

<K
<X
5

Sve%
0%
RKS

G5
L
)]

S
&

0% %

s
0

0:
\]
0‘
%

- %

%
1939
A

f

535

%%
a0
S
X

SMEN
S S
oS0 930993
9930 9:4%
S

S

%
o

&
ook

<X
o

X

oleteds
T

255

b
Petele!
X8
030!
%%}

RRELES, &
0f§'0
ZRRRRKLS

X
R
SRS
odesotese!
RSB

25

255
0%l

KX

1500 %
S

SRR
5K

%
%%
RKK
LKL
<

O
SSRGS
RS,
) SR
SRR,

CRRKEEBEE,

S
9%

P!
0

et

A

A
!
IRKK

Rdd-

%
K

bt ?3
S
S
Boss o

IR LRRKLR,
SSELRRKESS

%
CRIIIEARIKIHRK

9
2%
D

0%
A

CERREHAR

KL ’¢

%
X

S8
IR
X

2%
XS
o

AR
SR ARKLK

0>
RS
0%l
%!
SR
s
RRRIELRLLRRIERS

(X
5K
XY
0SS
%
<
K

000
53R
BB
SRS
5K
KRR
85

%
<

67
KKK
XX

5

5555
55

25
K
poseds

A
AR
o
e
.0

258
?§§§§ ¢ ff
SSLIEIELN

LR ARL XK

s

o2}
o todeteds

KL
KKK

LKL
SRS
ZRLRRLRKLLS

LRKLHEK

OIS
oo

80908

S

!

050598

%
0%
o%
X2
0%
%
b

Leave\
blank
Question 6 continued
Q6
(Total 8 marks)

J

VD PO RO 0 .
Turn over »

P6 9 2 0 4 A0 1 9 3 2 urhove



7 The mass, M kg, of a species of tree can be modelled by the equation
log,,M =1.93log, r + 0.684

where rcm is the base radius of the tree.
The base radius of a particular tree of this species is 45cm.
According to the model,

(@) find the mass of this tree, giving your answer to 2 significant figures.

(b) Show that the equation of the model can be written in the form
M =pr?

giving the values of the constants p and g to 3 significant figures.

(c) With reference to the model, interpret the value of the constant p.

()

©)

(1)

Leave |
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Leave\
blank
8. Acurve C has equation y = f(x), where
. (1 T T
f(x) = arcsin| — -2<x<2 ——<y<—
) 2 X 2 y 2
(@) Sketch C.
1)
(b) Given x = 2siny, show that
b1
dx A - x?
where A is a constant to be found.
3)
The point P lies on C and has y coordinate %
(c) Find the equation of the tangent to C at P. Write your answer in the formy = mx + c,
where m and c¢ are constants to be found.
®3)
J
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9.
yaA
I
y =f(x)
O >
X
P
Figure 3
Figure 3 shows a sketch of part of the curve with equation y = f(x), where
Ly
f(x) = x(x*-4)e ?
(a) Find f'(x).
)
The line | is the normal to the curve at O and meets the curve again at the point P.
The point P lies in the 3rd quadrant, as shown in Figure 3.
(b) Show that the x coordinate of P is a solution of the equation
1 %x
X=73V16+e
(4)
(c) Using the iterative formula
1 L .
= V16 e WX =2
find, to 4 decimal places,
(i) the value of x,
(ii) the x coordinate of P.
®)
y,
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10.

O a X

Figure 4
Figure 4 shows a sketch of part of the curve with equation
y = (1 + 2c0s2x)’
(@) Show that
(1 +2c0s2X)*=p + COS2X + I COS4X

where p, g and r are constants to be found.

)

The curve touches the positive x-axis for the second time when x = a, as shown in Figure 4.

The regions bounded by the curve, the y-axis and the x-axis up to x = a are shown shaded

in Figure 4.

(b) Find, using algebraic integration and making your method clear, the exact total area

of the shaded regions. Write your answer in simplest form.

(5)

Leave |
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